C:\docs\doc\ING_NAOMI_WFS_TestReport20000816.doc

The tests are done in GHRIL room at WHT, La Pal ma,

cool er=8 degree,

1). neasure the dark current ( assunme gai n=0.6e/ ADU)
master:
sl ave :

2).take gain neasure,

swpedcaml2s. fits,
swpedcan2s.fits,

swpedcanml10s.fits,
swpedcan?10s.fits,

15 e/ pi xel / second
15. 6 e/ pi xel / second

and ask Derek for naomigain ( |

coul d not

run at here)

PECETITTELEEr i b r i r b r bbb n i r b n i r i n i r i rn

Check (5: 35, 5: 35]

slave gain for that quadrant = 0.53 e/ ADU

nmast er

gain

= 0.55 e/ ADU

in each set you send ne and got the follow ng results:-

PEETELELEET LT n i e n i b n i r i i n i n i i i i i i rrry
take noi se measurenent again

a).

b).

c).

d).

e).

the noise at high speed under new configuration is near as good as at ATC test.

change back with Ingrid controller
/ home/ xg/ naomi _i mage/ t esti mage/

Mater controller
Sl ave controller

noi se is sane as before

change back with Ingrid controller
Mater controller
Sl ave control | er===sl ave

switch on Ingrid controller again
swap clock cable for master and sl ave,

not make nuch difference

Mater control | er===sl ver
Sl ave control | er===master clk cabl e=

swap controller, get better noise
Mater control |l er===slave cable=
Slave control | er===naster cable
change Sl aver controller Timing board

change Master controller Timing board
test noise again, get simlar to d).
Mater control | er===master cable

Sl ave control | er===s|l ave cabl e

i mst at

newnasterH h.fits
newmasterSlw.fits
newsl aveHi h.fits
newsl aveSlw. fits
msCtrl Sl hdH h.fits
msCtrl Sl hdSlw. fits
slCtriMshdH h.fits
slCtrl MshdSlw. fits
nmastertryO.fits
slavetry0.fits

=mast er cabl e=
=sl ave cable=

mast er cabl e=
cabl e=

wor ki ng

=mast
=sl| av

er h
er h

eader, nmastertryO.fits (H H SET=200)
eader, slavetry0.fits (H H SET=200)

off, not see much dif
eader, nmastertryl.fits (H H SET=200)
eader, slavetryl.fits (H H SET=200)

mast
=sl| av

=====pmast

=====pmast e

=====5| av

The NO SE results (_take

er h
er h

=sl| aver

er h

r he

er h

cl k cabl e=====nmst er header,
=s| aver header,

header,

eader

ader ,

eader

ference

the video cabl e kept unchanged,

nsCtrl Sl hdHih. fits (H H SET=200),
msCtrl Sl hdSlw. fits (SLW SET=200)
sl CtrlMshdHi h.fits (H H, SET=200),
sl CtrlMshdSlw. fits (SLW SET=200)

setup into master setup ( dKk,
setup into slave setup ( Ok,
Now, the configuration (re-|abel ed)

EPROM sync )
EPROM sync )

newnast er H h. fits (H H SET=200),
newnast er Sl w. fits (SLW SET=200)
newsl aveH h.fits (H H SET=200),
news| aveSlw. fits (SLW SET=200)

nast er/ sl ave gai n=0. 55e/ ADU)

which is not possible at the commi ssioning stage.
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[ 53: 83, 44: 74]
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finely turni

ng

[ 53: 83, 6: 36] [ 6: 36, 6: 36)
4.27 5.45
3.23 3.71
5.04 4.79
3. 60 4.82
4.76 4.93
3.67 4.77
4.06 5.21
3.29 3.69
4.71 7.52
4.07 3.91

needs much nore access time of WS canera,
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